Page 1 of 1

AF-5C ADJUSTA FLEX WHEEL CARRIER

—-—HANGER

—--HANGER

ASSEMBLY INSTRUCTIONS

Step 1: Insert FRONT to REAR and bolt together using 1 each 5/16" x 2 1/4" bolt and
lock nut.

Step 2: Bolt the two HANGERS onto the FRONT and REAR tubes using 2 each 516"
x 1" balt and lock nuts.

Step 3: Bolt the AXLE onto the REAR bottom flange Usir‘tg 2 each 5/16" x 1" bolt and
lock nuts,

Step 4: install WHEELS onto the AXLE and secure with 3/4" washer and cotter pin.

NOTE: See AF-5 Harrow instructions for instaliing extension chains, when harrow is
used in conjunction with the whee! cartier.

file://G:\Country & Options Files\Manual's\AF-5C Wheel Carrier.gif 10/28/2009



